STEERING & SUSPENSION PARTS

\_\_
Aluo sasodind uonELIOjU| 10§ PAsN 21E JUBLLUNJOP SIY3 Ul papn|oul BIEP pue Siaquinu yed ‘stondussap 1anpoid ||y
JIplSeWE |B]Iq 929PES 19|11aA aA LIB|BIBWINU BOIE ‘lIe|elue|yIde unin wm epuewunyop ng %

SINALI M3N




{$ T=NOoROT

TEKNOROT REF: AC-264 ADAPTABLEFOR ACLIRA
Suspension Ball Joint

W
*

N

Weight: 3268 Length: 85  Bolt Metric: M12X1,25

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
ROX 1st Gen 2007-2012 Rear Upper 52390STKAO1* 52400STKAOI*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
AC-298
AC-299
TEKNOROT REF: AC-264 wosmEEroR ACLIRA
Suspension Ball Joint
W
A

Weight: 328  Length: 85  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ROX 2nd Gen 2013-2018 Rear Upper 52390STHAOI*, 52400STKAOT*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
AC-298
AC-299

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: AU-BS121 ADAPTABLEFOR ALJD]

Suspension Stabilizer Bar Link
Bushing

Weight: 54
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
A8 402,408 1994-2002 Rear 4D0505547C* 4E0505547L*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
.x: A-536 Stabilizer Bar Link|  Rear Right 4005055480, 4E0505548L
:,-;. A-537 Stabilizer Bar Link|  Rear Left 4005055470, 4E0505547L
TEKNOROT REF: AU-BS121 sorTaBLEFoR ALY
Suspension Stabilizer Bar Link
Bushing

Weight: 54
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
A8 4E 2002-2010 Rear 4005055480, 4E0505548L *
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
.{ A-536 Stabilizer Bar Link Rear Right 4005055480, 4E0505548L
:-‘. A-537 Stabilizer Bar Link Rear Left 40050554706, 4E0505547L

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: AU-BS121

Suspension Stabilizer Bar Link

Bushing

Weight: 54
PHAETON 2002-2016 Rear AD05055480", 4E0505546L*
-2 A-536 |Stabilizer BarLink|  Rear Right AD05055480, 4E05055481
o=@ A-537 | StabilzerBarLink|  Rear Left 4D05055470, 4E0605547L

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 3



(; TXNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: BM-B5175

Control Arm Bushing

Weight: 516 Length.: 80,8

2021 February

o wemmaw

Xdrive

Front Lower 31126777733% 31126777734%,
5-GERIES FIOFLL 2010-2016 Forward 311267777297, 31126777730
_ Suspension .
i Front Right
s & B-10281 | ControlAmand | | 010 D 31126777734
Ball Joint
. Ssuspension
égi_ﬁ B10291 | controlarmang | TONtLET Lower 31126777733
: , Forward
Ball Joint
suspension ,
& a ] Front Right
a\ﬁcﬁ B-1038 Control Arm and | ower Forward 31126777730, 31124081432
Ball Joint
Suspension
&% B1039 | conrolamand | TTOTEEETLOWEN | a1106777709 31124081431
> Ball Joint Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 4



(; TXNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: BM-BS175
Cantm/ Arm Bushing

Weight: 516 Length.: 80,8

2021 February

S e AW

Xdrive

6-SERIES FO6F12F13

2011-2016

Front Lower
Forward

31126777733% 311267777347,
31126777729% 31126777730*

Suspension .
& . Front Right
& & B-10261 | ControlArmand | | oo ooo 31126777734
Ball Joint
. Ssuspension
k;’ﬂ B10291 | controlArmang | TTOTELeM Lower 31126777733
: , Forward
Ball Joint
suspension ,
= £ . Front Right
- 1?‘“-5 B-1038 ContrU/Arm and | ower Forward 31126777730, 31124081432
Ball Joint
Suspension
&% B1039 | conrolamand | TTOTEEETLOWEN | a1106777709 31124081431
o Ball Joint Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 5



a TeNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: BM-BS175
Cantm/ Arm Bushing

Weight: 516 Length.: 80,8

2021 February

-

Xdrive

FO1, FOZ, FOS,

7-SERIES 04

2008-2016

Front Lower
Forward

31126777733% 311267777347,
311267777297, 31126777730

Suspension
Front Right
- & B-10261 | ControlArmand | | oo ooo 31126777734
Ball Joint
. Ssuspension
@ 510291 | ControlAmand | O e LOwer 31126777733
. . Forward
Ball Joint
/ Suspension .
&, 4 B10% | conrolAmand | OO 1196777730, 1124081432
/ Ball Joint
Suspension
AL s 81039 | ControlArmand | TOTELEMLOWEN | o1 106777709, 31124081431
o Ball Joint Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 6



-
{5 TXNOROT

TEKNOROT REF: BM-BS5184
Control Arm Bushing

Weight: 720  Length: 84,5
MODEL NO BODY CODE
3-SERIES G20
COMPONENTS NUMBER

'tsﬂ-"'!' B-1088
"v.' B-1089
P B-1118
‘RE‘_\..‘ B-1119

ADAPTABLEFOR BMW

YEAR DIRECTIONS
2018- Front Lower
Forward
NAME DIRECTIONS
Ssuspension )
Front Right
Control Ar m and Lower Forward
Ball Joint
Ssuspension
Control Arm and anF[oL rzaggwer
Ball Joint
suspension ,
Front Right
Control Ar m and Lower Forward
Ball Joint
Suspension
Control Arm and anF[ Left Lower
) orward
Ball Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

31106694665~ 31106694664,
311066894662% 31106694661*

OEMNO

31106894664

31106894663

31106894662

31106894661



{$ T=NOoROT

TEKNOROT REF: CD-BS0O03 ADAPTABLEFOR CADILLAC

control Arm Bushing

Weight: 157  Length. 50

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
2nd Gen, Front Lower . .
ESCALADE GMTE00 2001-2006 Inner 12475479% 12475480
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
( CO-118 Control A and | oo ot 1 ower 12475479
Ball Joint Assy
i ControlArmand | Front Right
) L1189 Ball Joint Assy Lower 12475480
TEKNOROT REF: CO-BS003 ADAPTABLEFOR CHEVROLET
Control Arm Bushing
-
N

Weight: 157  Length: 50

MODEL NO BODY CODE VEAR DIRECTIONS DEMND
EXPRESS 2500 2nd Gen 2003-2014 7 D’/Z rfgrwer 12475479% 12475480*
COMPONENTS NUMBER NAME DIRECTIONS DEMNO
( co-18 | COTOIATANG | o ettt ower 12475479
Ball Joint Assy
i ControlArmand | Front Right
) D119 Ball Joint Assy Lower 12475480

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

k STEERING 6§ SUSPENSION PARTS

TEKNOROT REF: CO-BSO03

Control Arm Bushing

Weight: 157  Length. 50

MODEL NO

TAHOE

COMPONENTS

L
>

ADAPTABLEFOR HEVROLET

BODY CODE YEAR DIRECTIONS
NUMBER NAME DIRECTIONS
CD-118 Ggg/%]/ﬁgzsir;d Front Left Lower

TEKNOROT REF: CH-1036
Suspension Stabilizer Bar Link

Weight: 540  Length. 322

MODEL NO

CITY EXPRESS

Bolt Metric: M12X1,25

BODY CODE YEAR

2015-2018 Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

DIRECTIONS

124754797, 12475480*

OEMNO

12475479

12475480

ADAPTABLEFOR CHEVROLET

OEMNO

546189AMIA, 19316692



A\ TXNOROT

G B
\) STEERING E SUSPENSION PARTS EDruary

TEKNOROT REF: CH-1036 ADAPTABLEFOR NISSAN
Suspension Stabilizer Bar Link

Weight: 540  Length: 322  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
NV200 2013-2019 Front 546189AMIA, 19316692
TEKNOROT REF.: CH-1036 ADAPTABLEFOR NISSAN

Suspension Stabilizer Bar Link

Weight: 540  Length.: 322  Bolt Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SENTRA B17 2013-2019 Front 546189AMIA, 19316692

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NorOT

TEKNOROT KEF: CH-BS104
Control Arm Bushing with fe2/fe3 suspension

Weight: 350  Length: 58

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
Front Lower 3 5
CAMARO 6th Gen 2016- Resrward 23317365* 23317366
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
& -§ CH-888 Lateral Arn  Front Right Lower 23317366
é @ CH-9869 Lateral Arm | Front Left Lower 23317365
TEKNOROT REF: DO-368 ADAPTASLEFOR JODGE
Suspension Contral Arm and 4x2
Ball Joint
YEAR ONLY
: 2000-2001
Wejght: 5260  Length: 435  Bolt Metric: M14X15
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
RAM 1500 2nd Gen 1884-2001 Front Upper RKB21854, 52106678AA
COMPONENTS -~ NUMBER NAME — DIRECTIONS OEMNO
5 DO-364 Ball Joint Front Upper 5174041AC

Units: Weight in kg / Length in mm / Bolt Metric in rmim / Housing Metric in mim



{$ T=NOoROT

TEKNOROT REF: DO-368 ADAPTABLEFOR [JODGE
Suspension Control Arm and 4x2 5 :
Ball Joint
YEAR ONLY
2000-2002
Weight: 5260  Length. 435  Bolt Metric. M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RAM 2500 2nd Gen 19594-2001 Front Upper RKE21854, 52106678AA
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
é- DO-364 Ball Joint Front Upper 5174041AC
TEKNOROT REF: DO-368 ADAPTABLEFOR [JODGE
Suspension Control Arm and 4x2
Ball Joint
YEAR ONLY
2000-2002
Weight: 5260  Length: 435  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RAM 3500 2nd Gen 1994-2001 Front Upper RKB21854, 52106678AA
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
é- DO-364 Ball Joint Front Upper 5174041AC

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/"‘

£\ TeCNOROT
’\"%() STEERING 6 SUSPENSION PARTS

TEKNOROT REF: DO-3782 ADAPTABLEFOR [JO0GE

Lateral Arm

Weight: 3198  Length: 630

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
JOURNEY 2009-2018 Rear Lower 4766950AC, 4766950AC
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
FI-BS126
TEKNOROT REF: DO-3782 ADAPTABLEFOR FIAT
Lateral Arm

Weight: 3198  Length: 630

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
FREEMONT 2011- Rear Lower 4766950AC, 4766950AC
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
FI-BS126

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: FO-BS245 ADAPTABLEFOR FOR[
Control Arrm Bushin,
g YEAR ONLY
2013-2015
-
ol "
% =
Weight: 0 Length: O
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
: Front Right .
FLEX 2nd Gen 2013-2019 | ower Outer FA5Z3078A
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
’ ; F0-1108 Control Arm and | Front Right FA573078A
o7 | Ball Joint Assy Lower
TEKNOROT REF: FD-BS245 ADAPTABLEFOR FORL)
Control Arm Bushin
g YEAR ONLY
2010-2012
-
._.i. u [
Weight: O  Length: O
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right »
TAURUS 6th Gen 2010-2017 | ower Outer FA5Z3076A
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
’ ; F0-1108 Control A and | Front Right FA573079A
Ball Joint Assy Lower

-

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



-
{5 TXNOROT

TEKNOROT REF: FO-BS245
Control Arm Bushing

Weight: 0 Length.: O

MODEL NO BODY CODE

MHKT 1stGen

COMPONENTS NUMBER

A

-

FO-1108

TEKNOROT REF: FD-BS246
Control Arm Bushing

Weight: 428  Length. 102
MODEL NO BODY CODE
EXPEDITION
COMPONENTS NUMBER
} FO-1054
FO-1055

= ¢

YEAR ONLY
2010-2012
YEAR DIRECTIONS
2009-2012 Front Right
Lower Outer
NAME DIRECTIONS
Control Arm and Front Right
Ball Joint Assy Lower

YEAR DIRECTIONS
1997-2003 Front Lower
Outer
NAME DIRECTIONS
Control Arm and Front Right
Ball Joint Assy Lower

Control Arm and Front Left Lower

Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR [ INCOLN

OEMNO

FA6Z3078A*

OEMNO

FA5Z3078A

ADAPTABLEFOR [FORD

OEMNO

6L373078B* 6L3230796*

OEMNO

6L375076B

6L325079B



{5 T=NOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: FD-BS246 ADAPTABLEFOR FORD
Ccontrol Arm Bushing SINE T

Weight: 4268  Length: 102

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
F-150 11th Gen 19972003 7 ngﬁgrwef 613730788 6L3230796*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
} F0-1054 ControlArmand | Front Right 613730788
Ball Joint Assy Lower
{ Fo-1085 | COTTOATIANG | g ettt ower 63230798
Ball Joint Assy

TEKNOROT REF: FD-BS247 ADAPTABLEFOR FORD
Control Arm Bushing

Weight: 405  Length. 102

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
EXPEDITION 19972003 7 D’IZ ﬁgfwer 61.3730788" 61.3730798*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
} F0-1054 ControlArmand | Front Right 613730798
Ball Joint Assy Lower
{ Fo-1055 | COMIOIAIMENd | oo et Lower 613730798
Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/ a

£\ TEXNOROT

&%J STEERING 6 SUSPENSION PARTS

TEKNOROT REF: FD-BS247

control Arm Bushing

e

Weight: 405  Length: 102

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
F-150 11th Gen 19970003 7 O’/Z égrwe’ 6L.373078B" 6L.373079B*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
} F0-1054 ControlArmand | Front Right 613730788
Ball Joint Assy Lower
{ Fo-1085 | COTTOATIANG | g ettt ower 63230798
Ball Joint Assy

TEKNOROT REF: FO-BS248 \oAPTABLEFOR FORD
Control Arm Bushin
g YEAR ONLY
2010-2012
Weight: 335  Length: 60
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
FLEX 15t Gen 2009-2012 T D’/Z égfwer FA573078A% FA573079A*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
’ F0-1108 Control A and | Front Right FA573079A
o7 | Ball Joint Assy Lower
\ Fo-1109 | COMEOIATMAENG | oo oo ower FAGZ3079A

. Ball Joint Assy
L

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

k STEERING 6§ SUSPENSION PARTS

TEKNOROT REF: FD-BS248 ADAPTABLEFOR FOR[D

Control Arm Bushing YEAR ONLY
2010-2012

Weight: 335  Length: 60

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
TAURLIS 6th Gen oo10-2017 T 0’/7[5 égrwef FA5Z3076A* FA5Z3079A%
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
P’ F0-1108 Control Arm and | Front Right FA573078A
& Ball Joint Assy Lower
s Fo-1209 | CONIOIATMAENT | oo o ower FA5Z3079A
V0 Ball Joint Assy
TEKNOROT REF: FO-BS248 ADAPTABLEFOR [ INCOLN
Control Arm Bushin,
g YEAR ONLY
2010-2012
Weight: 335  Length: 60
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
MKT 1st Gen 2009-2012 T 0’/7,5 égrwer FA5Z3078A* FA5Z3079A*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
’ ' F0-1108 Control A and | Front Right FA573079A
& Ball Joint Assy Lower
R_ Fo-1109 | COMEOIATMAENG | oo oo ower FA5Z3079A
A9 Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: FO-BS250 T
Control Arm Bushin
g YEAR ONLY
2013-2015
@ _
| d -
L At | 3
S 9
Weight: 1310 Length: 155
MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
FLEX ond Gen 2013-2019  TTONELEr Lower FAB73079A%
Outer
COMPONENTS NUMBER NAME DIRECTIONS DEMNO
R Fo-1109 | COMrOIATMANG | o) o) ower FA5730794
V0 Ball Joint Assy
TEKNOROT REF: FD-BS250 i
Control Arm Bushin
g YEAR ONLY
2010-2012
@ _
| d -
L At | 3
S 9
Weight: 1310 Length: 155
MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
TAURLS 6th Gen o010-2017 O éig;a wer FABZ3079A%
COMPONENTS NUMBER NAME DIRECTIONS DEMNO
R Fo-1109 | COMIOIATMANG | o o) ower FA573079A

V0 Ball Joint Assy

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{6 TENoROT

TEKNOROT REF: FD-BS250 ADAPTABLEFOR | INCOLN

Control Arm Bushing YEAR ONLY
2010-2012
_J -. o
Qu‘ & o F

Weight: 1310 Length. 155

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
MKT 1stGen 2009-2012  FOntLertLower FAB73079A%
Outer
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
s Fo-1109 | CONIOIATMAENT | o) o ower FA5Z3079A
V0 Ball Joint Assy
TEKNOROT REF: FO-1165 \PTBLEROR FORL
Suspension Ball Joint
P YEAR ONLY
2006-2011
Weight: 578  Length: 120  Bolt Metric. M14X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
CROWN VICTORIA 2nd Gen 2003-2011  Front Lower 6W7730788* 6W7Z3079B*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



5 TXNOROT

G B
QW sreenine o susrension ranrs ebruary

TEKNOROT REF: FO-11656 ADAPTABLEFOR MERCURY
Suspension Ball Joint

Weight: 5768  Length: 120  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

GRAND MARQUIS 2003-2011 Front Lower BW7730788* 6W7730798*
TEKNOROT REF. FO-1277 ADAPTABLEFOR (R[]
Suspension Stabilizer Bar Link AWD Without raised ride

height.
Weight: 932  Length: 365  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-250 SUPER DUTY 2016- Rear HO375K4844

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



\'E(NDRDT

k) STEERING 6 SUSPENSION PARTS

TEKNOROT REF: FO-1277 ADAPTABLEFOR FOR[
Suspension Stabilizer Bar Link AWD Without raised ride

height.
Weight: 932  Length: 365  Bolt Metric: M12X1,756
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
F-350 SUPER DUTY 2016- Rear HC375K484A
TEKNOROT REF: FO-1277 ADATABLEFOR FOL)

Suspension Stabilizer Bar Link AWD Without raised ride

height.
Weight: 932  Length: 365  Bolt Metric. M12X1,75
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
F-450 SUPER DUTY 2016- Rear HC375K484A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




e —
{» T&XNOROT

TEKNOROT REF: FO-1277
Suspension Stabilizer Bar Link AWD Without raised ride

height.
Weight: 932  Length: 365  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS
F-550 SUPER DUTY 2016- Rear
TEKNOROT REF: FO-1286
Suspension Stabilizer Bar Link AWD With raised ride
height
Weight: 932  Length: 425  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS
F-250 SUPER DUTY 2016- Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FORD

OEMNO

HC3Z5K484A

ADAPTABLEFOR FORD

OEMNO

HC375K484B




{$ T=NOoROT

TEKNOROT REF: FO-1286 ADAPTABLEFCR FORD

Suspension Stabilizer Bar Link AWD With raised ride
height

Weight: 932  Length. 425  Bolt Metric. M12X1,75

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
F-350 SUPER DUTY 2016- Rear HC375K484B
TEKNOROT REF. FO-1286 ADAPTABLEFOR (R[]
Suspension Stabilizer Bar Link AWD With raised ride
height

Weight: 932  Length: 425  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-450 SUPER DUTY 2016- Rear HC375K484B

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: FO-1286 ADAPTABLEFCR FORD

Suspension Stabilizer Bar Link AWD With raised ride
height

Weight: 932  Length: 425  Bolt Metric: M12X1,75

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
F-550 SUPER DUTY 2016- Rear HC375K484B
TEKNOROT REF: H-1015 ADAPTABLEFOR HONDA
Suspension Ball Joint

Weight: 328  Length: 100  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
ACCORD 2013-2017 Rear Upper 52610T2AAD0D* 52520T2AAD0*
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
H-1148
H-1149

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



5 TXNOROT

G "IN
QW sreenine o susrension ranrs ebruary

TEKNOROT REF: H-1025 ADAPTABLEFOR HONDA
Suspension Ball Joint
P YEAR ONLY
“ﬁ""“ 2007-2008
Weight: 211 Length. 80  Bolt Metric: M12X1,25
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
FIT 2nd Gen 2007-2013 Front Lower 51350SLNAD2* 51360SLNAO2*
TEKNOROT REF: H-1056 ADAPTABLE FOR ACLIRA
Suspension Stabilizer Bar Link
@ &
Weight: 395  Length: 354  Bolt Metric. M12X1,25
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TLX 2015-2019 Front Right 51320T2AA01

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




A\ TXNOROT

G B
\) STEERING E SUSPENSION PARTS EDruary

TEKNOROT REF: H-1056 ADAPTABLEFOR. HONDA
Suspension Stabilizer Bar Link

® &

Weight: 395  Length: 354  Bolt Metric: M12X1,25

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
ACCORD 2013-2017 Front Right 51320T2AA01
TEKNOROT REF: H-1057 s R ACURA

Suspension Stabilizer Bar Link

+ @

Weight: 395  Length: 354  Bolt Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TLX 2015-2019 Front Left 51525T2AA01

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: H-1057 ADAPTABLEFOR HONDA
Suspension Stabilizer Bar Link

+ @

Weight: 395  Length: 354  Bolt Metric: M12X1,25

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
ACCORD 2013-2017 Front Left 51325T2AA0]
TEKNOROT REF: HO-BS149 ADAPTABLE FOR ACLIRA
Lateral Arm Bushing
s

L
’“\—'

Weight: 270  Length: 55

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
7L 4 GEZ'QUAS' 2009-2014 Rear Lower 52350TACACD*

COMPONENTS NUMBER NAME DIRECTIONS DEMND
— AC-278 L ateral Arm Rear Lower 52350TAOACO

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: HO-BS149
Latera( Arm Bushing

Weight: 270  Length: 55

7SX 2nd Gen CU2 2009-2014 Rear Lower 52350TAOAOO*
e ‘ AC-278 ‘ Lateral Arm ‘ Rear Lower ‘ 52350TACACO

Lateral Arm Bushing

Weight: 270  Length: 55

ACCORD Vil 2008-2012 Rear Lower 52350TADAOO*

— AC-278 Lateral Arm Rear Lower 52350TAUACO

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 29




{5 T=NOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: HO-BS5149 ADAPTABLE FOR HONDA
Lateral Arm Bushing

¢

Weight: 270  Length: 55

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CROSSTOUR 2010-2015 Rear Lower 52350TADAOO*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
e AC-278 Lateral Arm Rear Lower 52850TACAOO
TEKNOROT REF: HY-1036 ADAPTABLEFOR HYUNDA/

Suspension Stabilizer Bar Link

&

B 1

Weight: 240  Length. 113  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SONATA n 19598-2001 Front 54830356101, 5483036000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

G B
\) STEERING E SUSPENSION PARTS EDruary

TEKNOROT REF: HY-1078 ADAPTABLEFOR H YUNDA/
Suspension Control Arm and for vehicle with xenon
Ball Joint lights

Weight: 4314  Length. 465

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
TUCSON T 2015- Fr ‘Z’; twggf nt 54501F1000
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
*' Hy-414 Ball Joint Front Right 5450107000*
Lower
TEKNOROT REF: HY-10785 ADAPTABLEFOR HYUNDA/

Suspension Control Arm for vehicle with xenon
lights

Weight: 3534  Length. 435

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
TUCSON TL 2015 Lower 54501F1000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/"‘

£\ TeCNOROT
’\"%() STEERING 6 SUSPENSION PARTS

TEKNOROT REF: JE-3782 ADAPTABLEFOR FIAT

Lateral Arm

u

Weight: 2189  Length: 600

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
. Rear Right
500X 2015 Forward 51959808, 68246739AA
TEKNOROT REF: JE-3782 ADAPTABLEFOR FIAT
Lateral Arm
Weight: 2189  Length: 600
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
Rear Left
500x 2015- Forward 51939960, 68246734AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF. JE-3792
Lateral Arm

o ——

Weight: 2169  Length.: 600

MODEL NO BOODY CODE
RENEGADE

TEKNOROT REF: JE-3792

Lateral Arm

Weight: 2189  Length: 600

MODEL NO BODY CODE

RENEGADE

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2014-

YEAR

2014-

ruary

ADAPTABLEFOR _JEEP

DIRECTIONS

Rear Right
Forward

OEMNO

51959608, 662467359AA

ADAPTABLEFOR _JEEP

DIRECTIONS

Rear Left
Forward

OEMNO

51939960, 66246734AA



{5 T&’\NOROT

TEKNOROT REF: LC-106 ADAPTABLEFOR [ ANCIA
Suspension Stabilizer Bar Link

Weight: 280  Length: 141  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LYBRA 1999-2005 Rear 46545749, 50701813
TEKNOROT REF: M-1005 ADAPTABLEFOR MERCEDES
Control Arm Bushing

&
ve

Weight: 388  Length: 50

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
Front Lower
C-CLASS W205 4x4 2013- Pearward Center 2053305801
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
¥4 i ControlArmand | Front Lower
— M-788 Ball Joint Assy Rearward 2053305501

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeNOROT

STEERING 6 SUSPENSION PARTS

e
@

TEKNOROT REF: M-1005

ADAPTABLEFOR MERGCEDES

Control Arm Bushing
Weight: 388  Length: 50
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Lower
E-CLASS W213 4x4 2016- Pearward Center 2053305801
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
K o i Control Arm and Front Lower
o M-766 Ball Joint Assy Rearward 2053305801
TEKNOROT REF: M-1005 ADAPTABLEFOR MERCEDES
Control Arm Bushing 4X4
N = |
i '
a
Weight: 388  Length: 50
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Lower
GLC-CLASS X2565,0253 2016- Pearward Center 2053305801
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
T i ControlArmand . Front Lower
Py M-768 Ball Joint Assy Rearward 2053305601

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: M-286  owmaere MERCEDES

Suspension Stabilizer Link Aluminium vers, 4-matic

Weight: 379 Length: 315  Bolt Metric: M12X1,5

CLS-CLASS 2011-2017  Front Right Outer AZ2123202668, 2125202689

TEKNOROT REF: M-286  wmaere MERCEDES

Suspension Stabilizer Link Alurminium vers, 4-matic

Weight: 379  Length: 315  Bolt Metric: M12X1,5

E-CLASS 2009-2016  Front Right Outer A2125202688, 2123202689

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 36




TEKNOROT REF: M-287  owmaere MERCEDES

Suspension Stabilizer Link Aluminium vers, 4-matic

Weight: 379 Length: 315  Bolt Metric: M12X1,5

CLS-CLASS 2011-2017  Front Left Outer A2125202588, 2123202589

TEKNOROT REF: M-287  wmaere MERCEDES

Suspension Stabilizer Link Alurminium vers, 4-matic

Weight: 379  Length: 315  Bolt Metric: M12X1,5

E-CLASS 2009-2016  Front Left Outer A2125202588, 2123202589

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 37




TEKNOROT REF: M-536

Suspension Stabilizer Bar LInk — pAfuminium - Ch.No.from

1/210987 ->
WA
Weight: 250  Length: 263  Bolt Metric: M10X15
MODEL NO BOOY CODE YEAR DIRECTIONS
B-CLASS W245 2005-2011 Front

TEKNOROT REF: MA-906
Suspension Stabilizer Bar Link

il ¢
L4

Weight: 248  Length: 134  Bolt Metric: M10X1,25
MODEL NO BODY CODE YEAR DIRECTIONS
124 348 2016- Front Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

bruary

ADAPTABLEFOR MERGCEDES

OEMNO

A1693201389, 1695201389

ADAPTABLEFOR FIAT

OEMNO

N24334150



! a

TEKNOROT REF: MA-906 ADAPTABLEFOR MAZDA
Suspension Stabilizer Bar Link

4
F
£

s *
LI

Weight: 248  Length: 134  Bolt Metric: M10X1,25

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
MX-5 % 2015- Front Right N24334150
TEKNOROT REF: MA-907 sowemsLeror FIAT

Suspension Stabilizer Bar Link

-

—

-

Weight: 248  Length: 134  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

124 348 2016- Front Left N24334170

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: MA-807
Suspension Stabilizer Bar Link

? -.;

Weight: 248  Length: 134  Bolt Metric: M10X1,25
MODEL NO BOOY CODE
MX-5 v

TEKNOROT REF: ME-BS229

Control Arm Bushing
Weight: 432  Length: 80
MODEL NO BODY CODE
S5-CLASS W222 V222 X222
COMPONENTS NUMBER
o o v M-10161
v e ® M-10191

bruary

ADAPTABLEFOR MIAZ A

OEMNO

N24334170

ADAPTABLEFOR MIERCEDES

YEAR DIRECTIONS
2015- Front Left
FOR 4X2 & S65 AMG
YEAR DIRECTIONS
Front Lower
2014- Rearward Outer
NAME DIRECTIONS
Control Arm & Front Right
Ball Joint Assy | Lower Rearward
ControlArm & | Front Left Lower
Ball Joint Assy Rearward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

2225307101* 2223307201

OEMNO

2223307201

2223307101



TEKNOROT REF: ME-BS243 ADAPTABLEFOR MERCEDES
Control Arm Bushing FOR 4X4

(>

Weight: 388  Length: 80

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Lower . .
CLS-CLASS 2018- Forward 2133302200%* 2133302100
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Ssuspension )
) /3 i Front Right
o~ o M-1068 Control Arm and L ower Forward 2133302200
Ball Joint
Ssuspension )
1 Front Right
YD M-1069 Control Arm and L ower Forward 2133302100
Ball Joint
TEKNOROT REF: ME-BS243 ADAPTABLEFOR MERCEDES

Control Arm Bushing FOR 4X4

(>

A

Weight: 388  Length: 80

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Lower " N
E-CLASS W213 4x4 2016- Forward 2133302200%* 2133302100
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
suspension .
) /3 i Front Right
o~ o M-1068 Control Arm and | ower Forward 2133302200
Ball Joint
Suspension .
; i Front Right
s oo M-1069 Cam‘m/Arm and | ower Forward 2133302100
Ball Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



ADAPTABLEFOR MERGCEDES

7
O ENaRAOT

TEKNOROT REF: ME-BS244

Lateral Arm Bushing

Weight: 86 Length: 43
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
PV M-1009 Lateral Arm ngg r%g A1723500153, 1723500153
St M-746 Lateral Arm R/erg r%g 2033500753, 2033500353

TEKNOROT REF: ME-BS244

Lateral Arm Bushing

ADAPTABLEFOR MIERCEDES

Weight: 86  Length: 43
MODEL NO BODY CODE VEAR DIRECTIONS ODEMNO
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
Yy M-1009 Lateral Arm R;g; er%f/r A1723500153, 1723500153
St M-746 Lateral Arm ngar rﬁ%g 2033500753, 2033500353

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: MZ-BS069 ADAPTABLE FOR MIAZ DA
Lateral Arm Bushing

Weight: 300  Length: 494

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
CX-5 KE 2011-2017 Rear Lower KD35268300%, KD3528350*
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
' MA-8882 Lateral Arm | Rear Right Lower KD3528350
t’ MA-8892 Lateral Arm | Rear Left Lower KD3528300
ADAPTABLEFOR NJSSAN

TEKNOROT REF: N-1027
Suspension Stabilizer Bar Link

Weight: 330  Length: 262  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FRONTIER 1stGen 18999-2004 Rear 5626177000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&XNOROT

TEKNOROT REF: N-1027 ADAPTABLEFOR NISSAN
Suspension Stabilizer Bar Link

Weight: 330  Length: 262  Bolt Metric: M10X1,25

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
XTERRA 2000-2004 Rear 5626177000
TEKNOROT REF: OP-BS135 ADAPTABLEFOR (JIPEL
Control Arm Bushing

R

Weight: 545  Length: 1495

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
INSIGNIA B 2016- Fr D’/Z rfgrwer 54198832* 54198833+
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
; suspension .
’ 0-1008 | controlArmand | LZ’;%% nt 54196833
e Ball Joint
. Suspension
‘ 0-1009 Control Arm and | Front Left Lower 854198832
- Ball Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF.: PO-BS0O04 ADAPTABLEFOR PORSOHE

control Arm Bushing

St

Weight: 167  Length.: 66

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
PANAMERA 2009-2016  Front Uper 97034105110% 97034105103*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
4 A 4 PO-5081 ggﬁro ’7{’7 ?2\25?/ Front Upper 97034105110, 97034105103
TEKNOROT REF: RA-111 ADAPTABLEFOR RAM
Steering Tie Rod End w/ Power Steering :

Weight: 965 Length: 235  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PROMASTER 1500 1stGen 2013- Front Right Outer 68364926AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(s TENOROT

TEKNOROT REF: RA-111 ADAPTABLEFOR RAM
Steering Tie Rod End w/ Power Steering

Weight: 965  Length: 235  Bolt Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
PROMASTER 2500 1stGen 2013- Front Right Outer 68364926AA
TEKNOROT REF: RA-111 ADAPTABLEFOR FAAM
Steering Tie Rod End w/ Power Steering

Weight: 965 Length: 235  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PROMASTER 3500 1stGen 2013- Front Right Outer 68364926AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



! a

TEKNOROT REF.: RA-112 ADAPTABLEFOR RAM
Steering Tie Rod End w/ Power Steering

4
F
£

’I

Weight: 965  Length: 235  Bolt Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
PROMASTER 1500 1st Gen 2013- Front Left Outer 6836492544
TEKNOROT REF: RA-112 ADAPTABLEFOR RAM
Steering Tie Rod End w/ Power Steering

’I

Weight: 965 Length: 235  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PROMASTER 2500 1st Gen 2013- Front Left Outer 6836492544

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(s TENOROT

TEKNOROT REF.: RA-112 ADAPTABLEFOR RAM
Steering Tie Rod End w/ Power Steering

.

Weight: 965  Length: 235  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PROMASTER 3500 1stGen 2013- Front Left Outer 68364925AA
TEKNOROT REF: VO-BS036 wosEEreR YL VO
Control Arm Bushing

4o

Weight: 67  Length. 49

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
S60 3rd Gen 2019- Front Upper 31476301* 31476302*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Se, . Suspension ;

& vo-878 | conrolArmand " OU”D[ [56/5 n 31476302

o Ball Joint

o Suspension

® VO-879 Control Arm and | Front Left Upper 31476301

‘e Ball Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: VO-BS036
Control Arm Bushing

ADAPTABLEFOR /0L VO

Weight: 67  Length: 49
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
V6o 3rd Gen 2019- Front Upper 31476301* 31476302*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
So, . Suspension ;
o vo-878 | controlAmand | OL’/E 55 nr 31476302
-3 Ball Joint
. SO Suspension
‘.‘\ VO-879 Control Arm and | Front Left Upper 31476301
- Ball Joint
TEKNOROT REF. VO-BS0O37 ADAPTABLEFOR VO VO
Control Arm Bushing chassis no from 626502
FY
Weight: 240  Length.: 534
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
S60 1t Gen o000-2010 7 D’IZ ﬁgfwer 30760586 30760587
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
? V0-838 Suspension Front Right 20760587
Control Arm Lower
ﬁ V0-839 SUSPENSION | oot eft Lower 30760586
Control Arm

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: VO-BSO37 e YOLVO

Control Arm Bushing Chassis no from FCI:
@ 647149, FC2: 645618

Weight: 240  Length. 534

Front Lower

V70 P8O ) 2000-2007 Inner 30760586% 30760587*
i suspension Front Right
? VO-638 Control Arm Lower 30760587
: Suspension
ﬂ V0-839 oSS0 Front Left Lower 30760586

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 50



	Cataloguer - 2
	Cataloguer - 2
	Cataloguer - 2

